Procent af tal (manglende tal)

x70% = 18.2

x90% =414

x 30% = 22.5

x20% = 12.8

x30% = 12.6

x 30% = 20.7

x 90% = 70.2

x70% = 2.8

x70% =29.4

x 30% = 29.7
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Dato:

x 40% = 38.8

x 40% = 10.8

x 80% = 32.8

x 10% = 5.1

x 80% = 59.2

x 80% = 12.8

x 30% = 28.5

x 70% = 28

x 30% = 6

x 60% = 16.8

Score:



https://www.snowmath.com

Procent af tal (manglende tal)

26 x70% = 18.2

46 X 90% = 41.4

75 x 30% = 22.5

64 x20% = 12.8

42 x 30% = 12.6

69 x 30% = 20.7

78 X 90% = 70.2

4 x70% = 2.8

42 x70% = 29.4

99 x 30% = 29.7

97 x40% = 38.8

27 x40% = 10.8

41 x 80% = 32.8

51 x10% = 5.1

74 x 80% = 59.2

16 x80% = 12.8

95 x 30% = 28.5

40 x 70% = 28

20x30% =6

28 x 60% = 16.8
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Dato:

Score:
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